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A Real-Coefficient Version of Cubically Covergent Algorithm

of Simultaneous Polynomial-Root-Finding

Shigeru Ando
(Tsuda collage, Kodaira-si, 187,Japan)

A real-coefficient version of cubically covergent algorithm of

simultaneous polynomial-root—finding is proposed. Like in quadratically

convergent one (1), the notion of root finding is extended to the notion

of polynomial factorization,

polynomials be found within real computations.
is given and experimental results

so that real quadratic factors of real

A proof of local cubical convergence
with a simple PASCAL coding is reported.
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type vector=array(l..30)0f real;
var c,v:vector;i, j,k,n:byte; a,b,p,q,d, r,s, t,z0:real; inc:char;

procedure solve(p,q,a,b,r,s:real;var aa,bb:real); begin
i=sXs—pXrXs+qgXkrXr; aa:=(akXs—bX*r)/d; bb:=(aXrkq+(s—rkp)*b)/d; end;

procedure f_ovr_fd(c:vector;n:integer;var a,b:real); begin
:=1;for i:=1 to n~1 do begin c (i) :=c (i) —d¥p;c (i+1) :=c (i+1) —d*q;d:=c (i) end;
d:=1;for i:=1 to n—3 do begin c (i) :=c (i) —d*p;c (i+1) :=c (i+1) —d*¥q;d:=c (i) end;
solve(p,q,c (n—-1),c(nl), 2%c (n—2) —p*c (n—-3) , p*c (n—2) —2%q%c (n—3) +c (n—-1), a,b) end;

procedure realABR(var c,v:vector;n:integer);

var i, j:integer; dv:vector;
begin

for i:=1 to n div 2 do begin p:=v(2%i-1); q:=v (2%i);
r:=0; s:=0; for j:=1 to n div 2 do if i<>j then begin

solve(p,q,2,v (j*%2~1),v (j%2-1)-p,v (j*2) —q,a,b); r:=r+a; :=s+b end;

if odd(n) then begin solved(p,q,0,1,1,-vn),a,b); r:=r+a; s:=s+b end;
f_ovr_fd{c,n,a,b); solve(p,q,a,b, akrkp—bXr—axs, l+akrkq—bxs,a,b);
dv (2% i—1) :=(2%b—a%p)/(1-a); dv (2%i) :=bX(p+dv (2%i—1) ) —2%aXq end;

if odd(n) then begin t:=vin);
r:=0; for j:=1 to n div 2 do r:=r+(2%t+v (2%j—1))/ (LXK (t+v (2%j—1) ) +v (2%§));
a:=c (1)+t;b:=1;j:=1;while j<n do begin b:=atbXt; j:=j+l;a:=c (j)+aXt end;
dv (n) := —a/ (b—aXr) end;

for i:=1 to n do v (i):=v (i)+dv (i) end;

procedure printpol (var c:vector;n:integer);var i:integer; sgn:char;
procedure xx(i:integer);begin
write(lst,’” X’)>;if i>1 then write(lst,”Z’U’,i,2(Q ') end;
begin xx(n);for i:=1 to n do if abs(c (i))>1E-10 then begin
if ¢ (i)>0 then sgn:="+' else sgn:="-";write(lst,sgn,abs(c(i)):7:3);
if i<n then xx(n—idend;writeln(lst) end;
Begin
writeln(lst, AJACQ ) ;writeC’n = *)jreadln(n);
for i:=1 to n do begin write(Cc’,n—i,’ = ");readln(c (i)) end; printpol(c,nd);
z0:==c (1) /n; if z0<>0 then begin for i:=n downto 1 do begin p:=1;
for j:=1 to i do begin p:=c (j)+p*z0; c(j):=p end end; printpol(c,n) end;
r:=0;for i:=1 to n do if c(i)<>0 then
begin t:=2%exp (In(abs (c(i}))/id);if t>r then r:=t end;
repeat write(lst, r:8:3);p:=—abs(c (1) )+r;q:=1; i:=1;
while i<n do begin q:=ptgXr;i:=i+l;p:=—abs (c (i))+pXr end;
r:=r-p/q until p/q<le-8; writeln(lst,AJ);
:=3.14159265358979%2/n; k:=0;
if ¢M)>0 then begin if odd(n) then v(n):=-r;
for i:=1 to n div 2 do begin v (2%i+1) :=—2%rXcos (tki~t/2) ;v (2%i) :=r¥r end end
else begin if odd(n) then v(n):=r else begin v(n—1) :=0; v (n):=-r¥r end;
for i:=1 to (n—-1)div 2 do begin v (2%i—1) :=—2%rXcos (tXi) ;v (2%i) :=rXr end end;
repeat k:=k+1;write(lst,k:3,’ ')
for i:=1 to n do write(lst,v(i):8:3);writeln(lst);
realABR(c,v,n); read(kbd, inc) until inc=AC(;
if z0<>0 then writeln(lst,’C'AZ’L’,n-1,2CQ/",n,’ = ’,20:10:6);
for i:=1 to n div 2 do begin p:=v(2%i—1); q:=v(2%i); d:=pXp—4%Xq;
if d<0 then writeln(lst,z0-p/2:15:10,’ *'A(CQ’,sqrt(-d)/2:15:10," i’)
else begin di=sqrt(d);if p>0 then d:=—-d; t:=(p+d)/2;
writeln(lst,20+t:15:10, z0+q/t:19:10> end end;
if odd(n) then writeln(lst,z0+v(n) :15:10);
End.

By 1 Fx)= (x"*+ 1)(X2=2.01)

X'® - 0.010 ¥'* + 1.000 X* - 0.010

BRI
2,000 1.875 1.7158 1.548 1.545 1.443 1389 1.275 1.188 1128 1.070 1.021 1.008 1.002 1.001 1.0

.00 -1.003
-0. 1,003 0.766 1.003 1.415 1.003 1.850 1.003 0.0

% 0.0 1564 0.958 1773 0.767 0.000 -0.043
1.975 1.019 0.000 -0.0%1
1.000 -0.000 -0.010

-1.850  1.003 -1.416 1.003 -0.766
-1.773 0.767 -1.564 0.958 -0.869 0.993 -0.000 1.000 0.863 0.993 ol oo
1,875 1.019 -1.566 1.002 -0.868 1.000 0.000 1.000 0.868 1.000 1. i A
-1.950 1.000 -1.564 1.000 -0.868 1.000-7.0E-037 1.000 0.868 1.000 1.564 1. .

- N —




0.2225209340
0.6234898019
0.009688679

0.9749279122 i
1
i
1.0000000000 i
i
i
i

0.7618314825
0.4338837391
~B.3549129E-053
-0.4338837381
-0.7818314825 0.6234898019
-0.9749219122 0.2225209340
0.10000000g0 -0.1000000000

B2 FoO=("~ 1)™>ool)

X'® - 0.010 X' - 1.000 X* + 0.010
©2.000 1.875 1.758 1.648 1.545 1.443 1,359 1.275 1.198 1.128 1.070 1.027 1.006 1.002 1.001 1.00!

0.9009688679

HHEHFHFH

I -1.964 1.003 -1.665 1.003 -1.113 1.003 -0.391 1.003 0.331 1.003 1.113 1.003 1.665 1.003 1.364 1.003
2 -3.206 2057 -1.772 0.910 -1.251 0.981 -0.445 0.998 0.445 0.998 1.251 0.981 1.772 0.910 3.206 2.057
3 -1.660 0.670 -1.784 0.988 -1.247 1.000 -0.445 1.000 0.445 1.000 1.247 1.000 1.78¢ 0.988 1.660 0.670
4 -L.223 0.223 -1.802 1.000 -1.247 1.000 -0.445 1000 0.445 1000 1.247 1.000 1.802 1.000 1.223 0.223
§ -L112 0.12 -1.802 1.000 -1.247 1.000 -0.445 1.000 0.445 1.000 1.247 1.000 1.802 1.000 .12 0.112
6 -1.100 0.100 -1.802 1.000 -1.247 1.000 -0.445 1.000 0.445 1.000 1.247 1.000 1.802 1.000 1.100 0.100
1.0000000000 0.1000000000

0.9009588679 =  0.433883739] |

0.6234838019 +  0.7818314825 i

0.2225209340 +  0.9749273122 i
-0.2225209340 = 0.9743278122 i
~0.6234898019 = 0.7818314825 i
-0.9009688679 =  0.433883739] |
~1.0000000000 0. 1000000000

BU3. FO0= (x=1)(x=2)0k=3) = =~ (X=14.) (X ~I5)

X'® -120.000 X' 6580.000 X'* -218400.000 X'* +4839622.000 ¥'' ~18558480.000 X'° +328095740.000 ¥° -8207628000.000 ¥° +54531129553.000 X" -2128
03210680.000 X° +1009672107080.000 ¥* -2706813345600.000 ¥* +5056995703824.000 X° -6165817614720.000 ¥* +4339163001500.000 X-1307674368000.000
X'® -140.000 X' +7452.000 X'* -131620.000 X° +2475473.000 ¥ -15291640.000 X* +38402064.000 ¥* -25401500.000 ¥

23.664 22.169 20.786 19.511 10.341 17.274 16.315 15.469 14.75) 14.193 13.826 13.668 13.640 13.540 13.640

1 -24.921 186.043 -18.254 186.043 -3.430 IB6.043 2.851 186.043 13.540 186.043 22.070 186.043 26.683 186.043 13.540
2 -22.340 145.902 -16.330 141.486 ~1.577 136.050  2.564 134.676 [2.254 138.487 19.804 144,434 23.792 147.06) 12.255
3 -20.085 116.377 -14.709 107.358 -6.791 39.135 2.297 97.173 10.989 102.680 17.778 112.096 21.282 117.029 11.09)
4 -18.082 92.726 -13.204 81.333 -6.094 71.704 2.060 §9.435 9.7 75.782 15.991 87.086 19.130 94.052 9.370
5 -16.379 T4.527 -11.932 61.721 -5.487 S1.256 1.854 4§.829 8.888 55.581 14.439 67.936 17.318 76.639 9.060
6 -14.938 60.622 -10.822 46.846 -4.363 36.025 1.674 13.50¢ 8.043 40.437 13.112 53.383 15.827 63.630 8.304
T -13.738 50.069 -9.876 35.845 -4.515 24.740 [.513 22.248 1.318 25.142 11.987 42.326 14.645 54.140 7.705
b -12.747 42.080 -3.074 27.275 -4.13) 16.475 1.385 14.0%6 6.698 20.802 11.040 34.008 13.759 47.482 1.2M
9 -11.812 35.962 -3.395 21.099 -3.808 10.549 1.270 §.174 6.163 14.754 10.234 27.766 12.943 41.698 7.049
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